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1. According to the Friedman-Lucas money surprise model, we should expect a
stable relationship between

(A) the inflation rate and the level of real output.
(B) the inflation rate and deviations of real output from trend.

(C) deviations in the inflation rate from what it is expected to be and the level of
real output from trend.

(D) deviations in the inflation rate from what it is expected to be and deviations
in real output from trend.

2. According to the Central Bank Learning Story, if the central bank believes that

the Phillips curve relationship is stable, it will choose a point at which real output
will be

(A) below trend and inflation will be lower than expected inflation.

(B) below trend and inflation will be higher than expected inflation.

(C) above trend and inflation will be lower than expected inflation.

(D) above trend and inflation will be higher than expected inflation.
3. Time inconsistency means

(A) taking different decisions at different times despite facing the same
situation.

(B) making policy choices that violate the intertemporal budget constraint.
(C) adding a random factor to decisions.

(D) deciding to do something tomorrow, and then doing something different
tomorrow.
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The balance of payments improves

(A) when there is an exchange rate appreciation.
(B) when there is an exchange rate depreciation.
(C) when the interest rate rises.

(D) never.

In response to a temporary change in total factor productivity, the adoption of
capital controls under a fixed exchange rate

(A) amplifies the effect of this disturbance on both domestic output and the
domestic nominal money supply.

(B) amplifies the effect of this disturbance on domestic output and dampens the
effect on the domestic nominal money supply.

(C) dampens the effect of this disturbance on domestic output and amplifies the
effect on domestic nominal money supply.

(D) dampens the effect of this disturbance on both domestic output and the
domestic nominal money supply.

In response to a positive technology shock, which prediction of the sticky price
model is difficult to reconcile with the data?

(A) Employment decreases.
(B) Output increases.
(C) The price level decreases.

(D) Money is procyclical.
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Investment demand shocks in the Keynesian sticky wage model are not a likely
explanation of the typical business cycle because the model counterfactually
predicts that

(A) consumption is procyclical, investment is procyclical, and average labor
productivity is countercyclical.

(B) prices are procyclical, the real wage is countercyclical, and average labor
productivity is countercyclical.

(C) prices are countercyclical, the real wage is countercyclical, and average labor
productivity is countercyclical.

(D) employment is procyclical, prices are procyclical, and average labor
productivity is countercyclical.

In real business cycle theory, the persistence of shocks to total factor productivity
is justified by

(A) the fact that some capital depreciates every period.

(B) the observation of Solow residuals.

(C) the fact that Taylor rules have been used in post-war United States.
(D) the fact that capital takes some time to build.

Which of the following is NOT a feature of recent U.S. business cycles?
(A) The time series of deviations from trend in real GDP is quite choppy.
(B) The time series of deviations from trend in real GDP is quite smooth.

(C) There is no regularity to the amplitude of fluctuations in real GDP above
trend.

(D) There is no regularity to the frequency of fluctuations in real GDP above
trend.
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10. Which of the following statements is the most accurate about the behavior of the

11.

12,

U.S. unemployment rate over the last half of the twentieth century?

(A) Both the cyclical behavior of the unemployment rate and the trend behavior
of the unemployment rate are well explained by changes in the level of aggregate
economic activity.

(B) The cyclical behavior of the unemployment rate is well explained by changes
in the level of aggregate economic activity, and the trend behavior of the
unemployment rate is well explained by demographic factors.

(C) The cyclical behavior of the unemployment rate is well explained by
demographic factors, and the trend behavior of the unemployment rate is well
explained by changes in the level of aggregate economic activity.

(D) Both the cyclical behavior of the unemployment rate and the trend behavior
of the unemployment rate are well explained by demographic factors.

We assume leisure is a normal good. This implies that
(A) households maximize utility.

(B) preferences over consumption are well defined.

(C) an increase in taxes decreases the demand for leisure.
(D) an increase in the wage increases demand for leisure.

A competitive equilibrium is Pareto optimal if there is no way to rearrange or to
reallocate goods so that

(A) anyone can be made better off.
(B) no one can be made worse off.
(C) someone can be made better off without making someone else worse off.

(D) someone can be made better off without making everyone else worse off.
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